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Sectioﬁ' A

wer at least ten questions.
Each Qitestion carries 3 marks.
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Section B

Answer at least five questions.

Each question carries 6 marks.

All questions can be attended.
Overall Ceiling 30.

Comment on the ending of “Toba Tek Singh.’
What proves Gandhi’s righteousness ?
The step by step process needed for killing a tree.
The communication between Aaron and his goat.
The boyhood phase in “What It’s like to be Transgender”.
The medieval man and modern man is essentially the same in the scale of happiness. Argue.
The character of Louise Mallard.
The discrimination of the Dalits, according to Limbale.
(5 x 6 = 30 marks)
Section C

Answer any two questions.
Each question carries 10 marks.

“On Killing a Tree” describes man’s cruelty and violence to nature discuss.
Discuss Pearl S. Buck’s portrayal of Mahatma Gandhi in her essay.

Critically evaluate Adrienne Rich’s concept of education.

How does Yuval Harari define meaning of human life and basic human rights ?

(2 x 10 = 20 marks)
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